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How-do students develop mastery
with a particular concept?

¥

Understanding



-4 Phases of learning basic facts:

~ MOdelllng & Understanding the concept using fingers, counters,
number line, number grid etc.

Deriving answers usin reasoning Strategies based of

4
known facts
/
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Mastery/Efficient production of ansSwers s know facts by
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Phase 1.0 modelling the addition/subtraction
“concept using:

A fingers

A counters

A number line

A number grid

A Dice/dominoes/playing cards
A Board/games



Phase 2 0 deriving answers using strategies

A counting on/back ( numberline)

A Making 10 (bridging to 10)

A Using doubles (near/doubles)

A Adjusting known facts

A Using relationship between addition and
subtraction to derive answer

A Expanding/breaking down the number.
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Phase 3 0 Memorizing facts.

A Extensive use of strategies and practice make
students so familiar to a fact that he/she
memorizes It.



16(+ 7 = 1200 2 =

17 + 19 = /609 =

247 + 44 = 500 0489 =
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- 134 g1r1§ :and 119 boys took.part in an art |
~ corpetition. How many children took part in the

S’

compe:1 10 ar

We know the 2 parts. To find the whole, we
add 134 + 119.
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253 children took part in an art competition. There

—_— . )
- are 137 ¢irls. How many boys are there?
We know the whole and 1 part. To find the
missing part, w= suhtract 253 — 134.
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119 boys took part in an art competition. 15 more
s 115 than boys took part. How many girls took
pari 1 the competition?

We are corapaning the boys to the girls. We
know the smauer rt'antity. To find the bigger
quantity we add 119 -- 1.
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